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Please check that this question paper contains 23 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 23 questions.

Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.
(iii) Part B has two options — Analysis of Financial Statements and Computerized Accounting.
(iv) Attempt only one option of Part B.

(v) All parts of a question should be attempted at one place.
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aT - %
PART - A
(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

T UTEIRR & BT TEUT B UX, TIHCAh T AN i G- GIOGRT o @Al o STHT H &
TR -

(F) TR e HA AT WERN &

(@) W WEERI %, 376 [ A9 S H

(T) ¥ WEERI &, 376 T AT ST §

(&) VY FERRI %, S% 9T oY 3§

At the time of retirement of a partner, profit on revaluation will be credited to the capital
accounts of :

(a) Retiring Partner

(b)  All partners, in the old profit sharing ratio

(c) The remaining partners in their old profit sharing ratio

(d) The remaining partners in their new profit sharing ratio.

A-BT TS @ qem =gl Stemd @1a° | 27Hg ST |

Differentiate between ‘Profit and Loss Appropriation Account’ and ‘Profit and Loss

Suspense Account’.

99, arg T 9iiq U w9 H WEER © | S 310 T 9% @l BH H WEER a9 | o
AN H 310 3797 o oI v Goil T A1t <l 08T AT | 9% = WERR - & g ®H
12% =fees =1t 3t 3T F T 5,00,000 T 0T AT 3T o7 | 319 ®H 1 ohE@maret 39 a1 I
T 3 TET & 1o F0T T 6% Mk 3T T SATST BT SFIAA [T ST | T ST TAT THeAT Tef & 2
3T 3T % GHIT § HRT T |

Nipun, Vasu and Sheetu are partners in a firm. They admitted their friend Varun into
the firm as a partner. Varun brought sufficient amount of capital and premium for
goodwill for his share in the profits. Varun had given to the firm ¥ 5,00,000 @
12% p.a. interest as loan before he became a partner. Now the accountant of the firm is
emphasizing that the interest on loan should be paid @ 6% p.a. Is he right in doing
so ? Give reason in support of your answer.
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4. T HHhHed [AMHSE Tk T I T HAAT € | ST i 310+ 3901 ot fFiid & & fow e
T 3791 SAraeha fohaT a3t < Wehdll € 2
i 6%
(i) 10%
(i) 5%
(iv) SR | § HE T 1
Gama Chemicals Ltd. is a newly formed company. How much discount per share can

it allow for issuing its shares to the public ?

1 6%
(1) 10%
(1) 5%

(iv) None of the above

5.. U ST RO IMe H9g’ ohel oA § 2 1

When does a company create ‘Debenture Redemption Reserve’ ?

6. ST9 T WERR TANT o o0 Jehg AT &, A 3T T Bl AT 6 @I o STAT § i STt & 2
(F) =gelt @
(@) s @
(M TG % foT WEE @
(F)  qAYeIIH @i 1

When the new partner brings cash for goodwill, the amount is credited to :
(a) Realisation Account

(b) Cash Account

(¢) Premium for Goodwill Account

(d) Revaluation Account
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7. UH HH FRT ST fEd o T 95,000 & SEE 3fiEd SUR W seqqedithd T 10,000 T
i dfmfed € | SFadE ¥ T 9,00,000 HT ST o9 & G991 AN s /e ) 9% €
YT & 37 A o SR W FH S TN i TUMT BT |

The average profit earned by a firm is ¥ 95,000 which includes undervaluation of stock
of ¥ 10,000 on an average basis. The capital invested in the business is I 9,00,000 and
the normal rate of return is 9%. Calculate goodwill of the firm on the basis of 8 times
the super profit.

8. el fafee = ¥ 100 Y= % 60,000, 8% FOTHT &1 FHH 10% % 9z O a1 | FOTH
e 7 T o 9T 5% % WHAH W AT & | TR 6 et & SR ¥ 50 SaEE Woas
I T A RO & 3T WX 3 T |
8% FOTHAT o AT W STEeaeh IS Fafeal Hig |
Nandini Ltd. issued 60,000, 8% debentures of ¥ 100 each at a discount of 10%

redeemable at a premium of 5% after 7 years. According to the terms of issue ¥ 50 was
payable on application and balance on allotment of debentures.

Record necessary entries regarding issue of 8% debentures.

9. T ficmieTeet T YR | % AT i BN S dTell Sciseh BT € | 396 I IR
I | el 3T U Yo [oshd T faekor Sedeh € | 98 BRI & ScAR i fant=T wishareti o
TRTERT R % S THIUS U § | ST o SN o sreal Sl Torergor fR1em uee
F F [T 78 U TTamerd =elrdl & a9 Wigh 1 UgAT a7 fore=T fa@= qen mreties anerar
T e 2 U “Uig U1 e b1 TATer el € | ST sigd 3Tesl i o @l €
AT B 310 SCATRT b1 Sl AT b1 GHTET Wl & | 39 [o1T 30 SeIaT & U & § U
T2 IR THTE WY A H1 (0 v f5raeh g0 @ & fow Siifereer gt femam s,
forTea: TTHIoT &l o | & Grorematad o o fofe | fam @l aTeaehdl sl - A & fow
3%H T 100 U=F % 70,000 THAT 3N B GHYT W FHT FH q€A T 40 TAF F
60,000, 9% FROTGHT 1 FIHA e HT o o |

FIT H GEAHT | 3T TAT 9% FOTHT o A & 6T sTawass AsHm=n uiafeat e
T U foRdll Ueh Yol o TeT SIS [T Pl ST b Tt ST =gt € |

Nishit Automobiles Co. is a manufacturer of low cost cars in India. It has a strong sales

and distribution network spread across the country. It follows high standards in
environmental safety in various processes of car manufacturing. It runs a school to
provide quality education to the children of employees of the company and an ‘Adult

Education Centre’ to help adults learn reading and writing and to acquire basic literacy.
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The company is doing well and anticipates a higher demand for its products in the
future. For the same, it decides to set up a new manufacturing unit in a backward area of
Orissa creating livelihood for people, especially those from disadvantaged sections of
society in rural India. In order to raise fund requirements they decided to issue 70,000
equity shares of ¥ 100 each at par and 60,000, 9% Debentures of I 40 each.
Pass necessary Journal Entries for the issue of shares and 9% debentures in the books of
the company and also identify any one value which the company wants to communicate

to the society.

10. 1 3W, 2012 T TH HEAT 7 T 100 TedF % 2,000 8% FOTHT BT FA1HA 3 20 et oo %
WiHae o T | H0Tast 1 9he T 20 Ui OO & WiHETH 98 BT 91 | FeE @ vt &
@R 31 T, 2014 T URY FHYeh T D! TWHER Gol IR & 5T HIh 36T g F FRT
% 20,000 % ROTYAT T I UfeT T FHIAT AT |

31 T, 2014 I FEAT 7 Got IR I e 1A % 16T T 16,000 6 FOT9ET 1 567 T 95 Ui
RO e ¥ 4,000 3 RO &1 6T T 90 Ui RIS fRA |

SROTOET o I o TeT A= Wiefeat i | 3

On 1* April, 2012, a company issued 2,000 8% debentures of ¥ 100 each at a premium
of ¥ 20 repayable at a premium of ¥ 20. The terms of issue provided for the redemption
of ¥ 20,000 debentures every year commencing from 31% March, 2014 either by
purchase from the open market or by draw of lots at the company’s option.

On 31* March, 2014, the company purchased for cancellation its own debentures of the
face value of ¥ 16,000 at X 95 per debentures and of ¥ 4,000 at ¥ 90 per debenture.

Show the Journal Entries for redemption of debentures.

11. VT, SIS T ASK TH ®H & TRER & qA1 4 : 3 : 2 & 3Fud § oy dfed & | 3
Tl § @A % 90,000 T 7S ot | eehl W HERT T T 45,000 STET T AT | BTG
I T 3PN TeUT S T Ui foFam | STk TIehIST WUl Shi i Tt bl wH i &ia
T GedishA 3 1,08,000 foham 7= | T qAT ISR o6 Heg A1 o S 1 @ 2 W@ & o
TR T |

HITH o 3TehIYT UGUT Tl UYL SE9aeh ST Uiaedr shifsw | 4

Prabhat, Qasim and Roger were partners in a firm sharing profits in the ratio of 4 : 3 : 2.

Goodwill appeared in their books at a value of ¥ 90,000 and general reserve at
T 45,000. Qasim decided to retire from the firm. On the date of his retirement goodwill
of the firm was valued at ¥ 1,08,000. The new profit sharing ratio decided among
Prabhat and Roger is 1 : 2.

Record necessary Journal Entries on Qasim’s retirement.
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12. 31 99, 2014 T Yo, HEM F4T AT, ST U TRRRI FF & AEER o, o1 E@fq foeror =

THR T o7 :
31 |, 2014 &t fefa faavor
. e . s
e (9] et )
fata= oM ER 2,50,000 | & 2,60,000
Hfera Tty 2,00,000 | Farer 1,10,000
G LM T 0T 1,00,000
el 1,50,000 SRR 1,50,000
FHI 1,00,000 i 1,20,000
T 1,00.000 | 3,50,000 | TFE 60,000
8,00,000 8,00,000
| STETTE, 2014 ST HXM T 987 &1 77 | WISIKRT BT o 3T 20 12 1 o7 | Tohalt |EigR &t
Tg & 9T TR Goi@ | =7 1 Wiaem o
() TG P A UH wH F AN T SHP 9N I MO TSt A1 a6t b SHET A & R
X I STRAT |

(i) H I AT B Godish UDet 3 a6 o FHoT o o STER WX HAT ST |

(iii) 9 5N fRd WTERR T 53 T FOT WA 6% Ui o i 3T I 3@ T 4,000 , ST A
TR B, AT ST |

(iv) Tuser a9 a1 AnT T 45,000; T 48,000 T T 33,000 @1 |
3k TSAIERT 3T I e & LT ot USil @I R ity |

On 31% March, 2014, the Balance Sheet of Pooja, Qureshi and Ross, who were
partners in a firm was as under :

Balance Sheet as on 31° March, 2014

e g etegs Amount Amount

Liabilities ®) Assets ®
Sundry Creditors 2,50,000 | Building 2,60,000
Reserve Fund 2,00,000 | Investment 1,10,000
Capitals : Qureshi’s loan 1,00,000
Pooja 1,50,000 Debtors 1,50,000
Qureshi  1,00,000 Stock 1,20,000
Ross 1,00,000 | 3,50,000 | Cash 60,000
8,00,000 8,00,000
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Qureshi died on 1* July, 2014. The profit sharing ratio of the partners was 2 : 1 : 1. On
the death of a partner the partnership deed provided for the following :

(1)  His share in the profits of the firm till the date of his death will be calculated on

the basis of average profit of last three completed years.

(i) Goodwill of the firm will be calculated on the basis of total profit of last two

years.

(ii1) Interest on loan given by the firm to a partner will be charged at the rate of 6% p.a.

or T 4,000 whichever is more.
(iv) Profits for the last three years were ¥ 45,000; ¥ 48,000 and ¥ 33,000.

Prepare Qureshi’s Capital Account to be rendered to his executors.

13. @ TAT 3TRI0T o HHIES o 999 31 ATE, 2014 1 3T, FMiaeh &1 THAR o Uil @l
H e % 9,00,000;  5,00,000 =T ¥ 3,00,000 1 I AT | T8k ITEAIT T8 Tl FAT [ Goil
AT STEI0T TR AT &l oI T4 |

e 31 T, 2014 % THNG g€ a9 § ®H & o ¥ 1,80,000 T |

o  TY W Y 3TSTHT AT THAI Tedeh 7 T 40,000 T 30T fopar e eifeer 3 Uedeh fammel
% T | SRR el ® et T 60,000 T STER0T foha |

° 3RV W 5% U a9 & 8T A &1 AT q1 it W 10% Ui o =l 3§ 0 37
o |

o  WERRIHI A AT 3:1: 19T |
o 3UHI FHIEFR! TMUFIST hl T I U Ueh STeTAH IR HTAe Hitew | 6
On March 31%, 2014, the balances in the capital accounts of Alka, Hardik and

Ramneek after making adjustment for profits and drawings etc. were I 9,00,000,
T 5,00,000 and X 3,00,000 respectively. Subsequently it was discovered that the

interest on capital and drawings has been omitted.
° The profit for the year ended 31% March, 2014 was ¥ 1,80,000
o During the year Alka and Ramneek each withdrew a sum of ¥ 40,000, Hardik

withdrew a total of ¥ 60,000 in equal installments in the middle of each quarter.

° Interest on drawings was to be charged @ 5% p.a. and interest on capital was to
be allowed @ 10% p.a.

o The profit sharing ratio was 3 : 1: 1

° Showing your working clearly, pass the necessary rectifying entry.
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() et & T AT Hfatedl § e S IR

@

(Z 100 y=8 & 1,000 3191 59X T 80 Ui
3T T AT A7 941 N 10% % 9% W
Titae T mar =t T 30 ufd 3191 & uem
AT MY T PIaE T A T e07 fomar
T )

fafer oo amE) | S ®)
Eeikcll m -
|
39T 207 @ 3,000
YT e @ o
| e @ 9
(% 10 U= % 1,000 3791 57 T 2 wfey 7T
& ATgeTy W T AT T o qar &
W T 8 Ul ST WM WA a1 (3 2 WiHEE
Hled) T T 5 3 TR WH=w Gied ufd
9T AT T 2 T 3727 HAH 1o 1 97T
T T &)
S @ am 9,800
31T ISt @
q
(% 14 vt 3191 qot we= 700 3191 6
ﬂff:ﬁ'ﬁﬂ?)
SN ESUREII |
ISl Hed @rd @
(&X07 Toha T 3iRT o OH: TR o) @ o
GST Hed @i | T
Tt &1 T AT Wiarea J e S o 9
fafer oo amE@) | S ®)
391 g1 @ T 80,000
39T &1 W ©
q 30,000
39T T T T J

S @ am

EIL|
39T STt @ o

(% 70 Ul 3191 =f 5T @ T 80 WS 400 37wt

T A FTEA TR T 1)

3797 BT Wl am

ISl He @rd @
(BX0T foRd T BTN o U PR OX o i

TSt G @I § SR 6T T 1)
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(a)

(b)

Fill in the blank spaces in the Journal Entries given below :

(Being 1,000 shares of ¥ 100 each, ¥ 80
called up issued at a discount of 10%
forfeited for non-payment of first call of

Date Particulars F| Dr.®® Cr.®
Share Capital A/c. Dr.
Dr.
To Share Forfeited A/c. 3,000
To Share Allotment A/c. _
To Share First Call A/c. _
(Being 1,000 shares of ¥ 10 each T 8
called up issued at a premium of I 2 per
share forfeited for non-payment of
allotment of ¥ 5 per share including
premium and first call of ¥ 2 per share)
Bank A/c. Dr. 9,800
To Share Capital A/c.
To _
(Being 700 shares reissued @ X 14 per
share fully paid-up)
Share Forfeited A/c. Dr.
To Capital Reserve A/c.
(Being gain on reissue of forfeited shares
transferred to capital reserve)
Fill in the blanks spaces in the Journal Entries given below :
Date Particulars F| Dr.®® Cr.®
Share Capital A/c. Dr. 80,000
To Share Forfeited A/c.
To 30,000
To Share First Call A/c.

T 30 per share)
Bank A/c. Dr.
Dr.
To Share Capital A/c.

(Being 400 shares reissued at ¥ 70 per
share X 80 paid-up)

Share Forfeited A/c. Dr.
To Capital Reserve A/c.

(Being gain on reissue of forfeited shares

transferred to capital reserve)

9
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15. o qor frfeshT Uk wH | WEIRR & 991 3 : 2 % 3T H A died & | 31 A, 2014 H HH
1 et foeroT 1 TR o

N s - s

) ®)
fafir= oFeR 80,000 | 5% 1,72,000
Totfarent =l &=t 1 0T 20,000 | T_R 27,000
IS ik 50,000
Ty 1,75,000 T 2,20,000

forfashr  _1.94,000 | 3,69,000

4,69,000 4,69,000

ST Tdfd 1 wH i foee g T | geataat dHt agel! a9 Sgare A e R |
[ERIEICIE

(@) WL T 50% FHAER DB Tod ¥ 20% FF W o o1 | 99 FA= &6 T 1,05,000
a9 T T |

(@) ©HER ¥ T 26,000 I &Y |
(M  Tofaes = T 29,000 # ©ie o forar |
()  TrfeshT T 961 o ROT 1 M T 2,000 % AT & A1 AT T4 |

(¥ agelt &I T 5,000 9 |
YA AT, WEIRRT o il @It qAT < @IAT TaR RIS |

Parth and Shivika were partners in a firm sharing profits in the ratio of 3 : 2. The
Balance Sheet of the firm on 31% March, 2014 was as follows :

Liabilities Amount Assets Amount
® Q)

Sundry Creditors 80,000 Bank 1,72,000

Shivika’s sister’s loan 20,000 Debtors 27,000

Capitals : Stock 50,000

Parth 1,75,000 Furniture 2,20,000
Shivika _1.94.000 | 3,69,000

4,69,000 4,69,000
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On the above date the firm was dissolved. The assets were realized and the liabilities

were paid off as follows :

(@) 50% of the furniture was taken over by Parth at 20% less than book value. The

remaining furniture was sold for ¥ 1,05,000.
(b) Debtors realized ¥ 26,000
(c)  Stock was taken over by Shivika for ¥ 29,000.
(d) Shivika’s sister’s loan was paid off along with an interest of I 2,000.
(e) Expenses on realization amounted to I 5,000.

Prepare Realisation Account, Partner’s Capital Accounts and Bank Account.

16. e feafges ot usiiga Ostt % 50,00,000 & T 7€ 3 100 Uish o THaT 391 | fouieid ¢ |
T = ST Bl 42,000 3791 o FHA & Tow s fomar | i 1 ehR 9 5 ot

3eEA T — ¥ 30iq e
HETT T — T 40 v 371 (s afea)
T T 3 I W — T 50 Ui 37T

40,000 37T & feTT 3TMagT UTeT g |

1 T SieeRt Tt Tferelt et &1 7

AT H, {596 9 100 3797 &, 3Teiet T AT 19T 1 PAH Fal fohar |
ITet =, 576k 9T 200 37T &, AT T 1 JIa =& B |

AT TICT AT TS o 3T T 207 T forar | 3qeh ¥ &< okl Tt 3wl =t % 70 Wi
39T Y07 e O FHA Y T T |

ST oA o [T AT ot Tehs &l q9T T H 3Tegeh Niaredr iy | 8

YT
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AT % 7 T 100 U & 50,000 3790 FH1 10% & 95 W FE o6ar, ST 3feeT W T 20 ;
T I 3 30 997 YW aT AT IEAT Ueds W T 2039 9 | 75,000 3R & fow e
TS U | 25,000 3791 & SERAT i TE-UF USTHT I ST T MGG HT G TE |

e, T YR A, 319 1,500 M W e TRT 1 PIA &l 762, 36 RT 6l 1A=
3T T FTeAT & W T |

U SRTERE T A, 596 9 500 3797 o, IET AT H P e KT % T FH
fea | U STeTHRE et A, 5ok I 1,000 37T &, = W AT 947 SEI q° A Ar
T PIA Fal T | 3T 3T T 80T Y fordm a7 | &0 foh 7= 3i9l W T 120 Wi 37T
U7 ve g e e T e |

ST THIAT o 1T FHET St Gl | STEvaeh ST Ut Hite |

Rolga Ltd. is having an authorized capital of ¥ 50,00,000 divided into equity shares of
% 100 each. The company offered 42,000 shares to the public. The amount payable

was as follows :
On Application — 30 per share
On Allotment — R 40 per share (including premium)
On First and Final Call — 50 per share
Applications were received for 40,000 shares.
All sums were duly received except the following :
Lal, a holder of 100 shares did not pay allotment and call money.
Pal, a holder of 200 shares did not pay call money.

The company forfeited the shares of Lal and Pal. Subsequently the forfeited shares
were reissued for I 70 per share as fully paid-up. Show the entries for the above

transactions in the cash book and journal of the company.

OR
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Mamta Fab Ltd. issued 50,000 shares of I 100 each at a discount of 10% payable as

% 20 on application; ¥ 30 on allotment and ¥ 20 each on first and final call

Applications were received for 75,000 shares. Applicants of 25,000 shares were sent

letters of regret and application money was refunded.

Mohan, a holder of 1,500 shares failed to pay allotment money which he paid along

with the first call.

Raman, a shareholder holding 500 shares paid both the calls along with allotment.

Kamal, a shareholder holding 1000 shares did not pay first call and second and final

call. His shares were forfeited. The forfeited shares were re-issued at I 120 per share

as fully paid up.

Pass necessary Journal Entries for the above transaction in the books of the company.

17. 31 9/, 2014 i 3T @91 fa=3 =1 fefq foaror 9 veer 9 o

(9] (9]

TR 13,000 | s 15,000

FHHART e ffy 8,000 | 3ER 22,000
FHEART ATAYTT 15,000 | =T : Higwe Fol & folw

TEHE 1.000 | 21,000

IS i 10,000

3 55,000 LR R RENIED 60,000

o= 30,000 85,000 | @At 10,000

AT @rar 5,000

1,21,000 1,21,000

T & AN T Y4 9T o [oTT ol bl Ueh ARSI S T | I8 (O feran T iR
(®) 1,500 % T FOM HT 0cRE fHaT STRAT |

(@) ¥ 8,000 FH LIk 1 AT fo F T&ieh Yo W) 379 o U § o foran | 99 @ik
T Tediw ¥ 2,500 foram T |

67/1/3
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Q)

T S TN T A1 BT oo s6AST: T 32,000 T T 20,000 feram = |

(aN) ol Tt T STOHT 9T A6 AT |
(®) Toa Uit STt ST qT 3T T fS ol YST ol IS AT 3TaT Aehs BT ST
Yk 3T TN STUTT | FHTTT fohar St |
YT @A TT TR & Yol @ TR i |
YT
Al HET AT T FEIER & T2 5699 50%, 30% 31X 20% & sed & 1 31 |, 2013
i 3T fefel feraRoT =7 wehR & o
TTRR 28,000 | TS 34,000
Aoy ffy 10,000 | TT_R 47,000
fereT IaR-FerE Aty 10,000 | =T : Tore T Figrg
SRUT o T ST 3,000 44,000
G ik 15,000
wAferd 50,000 BEN 40,000
T 40,000 = 20,000
Bikll 25.000 | 1,15,000 | & e &1 @I 10,000
1,63,000 1,63,000
SR fafy Bt 7y 3 3YerhTer WEOT fohar der Aot wel T A 1 it 0% WERRE 6 "]
T 1 o ot
(F) Y I B H G T 51,000 W fwar s

@)
Q)
(&)
®

FHHART &1fegfd 1 T 6,000 T ST o7 |
ferent =t T 15,000 T =T T4 |
T 0T & o wrae = 6 3 1,000 | =™ T4 |

TR HF FHS T 10,300 HT R PTAA H AT T T4 IS B 3T FOT @Id H
TR T 51 T | TSGR A 12% Tt 9y S31ST o | ] aRreR fohvdl § A
o |

HCR G, WIEIRRI o UsTl @I 77 Yo7 ST 84 b HeR 31 F0T WAl R SISy |

67/1/3
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Following is the Balance Sheet of Abha and Binay as at 31* March, 2014 :

Amount Amount
Liabilities Assets
(9] (9]
Creditors 13,000 | Bank 15,000
Employees Provident Fund 8,000 | Debtors 22,000
Workmen’s Compensation Less : Provision for
Fund 15,000
un doubtful debts 1.000 | 21,000
Capitals : Stock 10,000
Abha 55,000 Plant & Machinery 60,000
Binay 30,000 85,000 | Goodwill 10,000
Profit & Loss 5,000
1,21,000 1,21,000

Chitra was admitted as a partner for Y4 share in the profits of the firm. It was decided

that :
(a)
(b)

Bad Debts amounted to ¥ 1,500 will be written off.

profit sharing ratio. The remaining stock was valued at ¥ 2,500.

(©

respectively.
(d)
(e

Chitra brought her share of goodwill in cash.

Stock worth ¥ 8,000 was taken over by Abha & Binay at Book value in their

Plant & Machinery and goodwill were valued at ¥ 32,000 and X 20,000

Chitra will bring proportionate capital and the capital of Abha and Binay will be

adjusted in their profit-sharing ratio by bringing in or paying off cash as the case

may be.

Prepare Revaluation Account and Partner’s Capital Accounts.

67/1/3
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Lalit, Madhur and Neena were partners sharing profits as 50%, 30% and 20%
respectively. On March 31* , 2013 their Balance Sheet was as follows :

Amount Amount
Liabilities Assets
® ®
Creditors 28,000 | Cash 34,000
Provident Fund 10,000 | Debtors 47,000
Investment Fluctuation Fund 10,000 | Less : Provision for

Bad & Doubtful Debts _ 3,000 44,000

Capitals : Stock 15,000
Lalit 50,000 Investment 40,000
Madhur 40,000 Goodwill 20,000
Neena 25.000 | 1,15,000 | Profit & Loss A/C 10,000

1,63,000 1,63,000

67/1/3

On this date, Madhur retired and Lalit and Neena agreed to continue on the following

terms :

(a) The goodwill of the firm was valued at ¥ 51,000.

(b) There was a claim for workmen’s compensation to the extent of ¥ 6,000.
(c) Investment were brought down to ¥ 15,000.

(d) Provision for bad debts was reduced by ¥ 1,000.

(e) Madhur was paid ¥ 10,300 in cash and the balance was transferred to his loan

account payable in two equal installments together with interest @ 12% p.a.

Prepare Revaluation A/C, Partner’s capital Accounts and Madhur’s loan A/C till
the loan is finally paid off.

16




HT -9
(ferehe - 1)
PART - B
(Option - I)
(fareitar feraeutt &t faverom)
(Analysis of Financial Statements)

18. Rt fafaes, s foredia e 3, ad & SRE 12% U a9 &6 8T ¥ % 5,00,000 & 07 7
A TT | Uehg TaTe TR0 9aR d 98 0 0 § 30 T U o Tiidfaty o |iferd
ToRaT ST 1
(F) et iatateEt
(@) o TiatarEr
(M s e qan faxie idfatEt
(&) YT Tararet

Kaveri Ltd. a financing company obtained loans and advances of ¥ 5,00,000 during the

year @ 12% p.a. It will be included in which of the following activities while preparing

the cash flow statement ?

(a) Investing Activities

(b) Financing Activities

(c) Both Investing and financing activities

(d) Operating activities

19. STt fAfaee’ HITST ScATE T FadT Kl & | 91e] a9 H 38+ T 30,00,000 i HRN-RI 61 56
foram, T8 310 HEARAT HF T 60,000 F o= T P fohan | 30 faar & fow fa =t
SMETAHAT Y, 37 T8 T 20,00,000 F 3T 1 118 2 | =me] o | 39+ ¥ 9,00,000
AN 3T TR |
T TAfaredl & Jehe JaTE i TUMHT HitT | 1

‘G Ltd.” is carrying on a paper manufacturing business. In the current year, it purchased

machinery for ¥ 30,00,000; it paid salaries of ¥ 60,000 to its employees; it required
funds for expansion and therefore issued shares of ¥ 20,00,000. It earned a profit of
T 9,00,000 for the current year.

Find out cash flows from operating activities.
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20.

fora, Afed wiies fatee &1 uey evs a1 | food &0 auf § AT a1 oty
ST X T A | ol 3 A A cAlehdits Vel AT §E ot | 3 ST geel
AT o8 379 STERT i THH 3 § [aeemy @ a1 | ST = 3ofleh § T [gamed o
I ToRAT 3T o1 e ST Totloh bt THIE B off AR et o | 31 T, 2014 H Aferd
T fAfeg Sl JemTcHe -8l faeror = JeR & o

P AT | 2012-13 | 2013-14 | QT aRae= %
q. €4) €4) ®) uRaa=
T 9 3 12,00,000 | 16,00,000 4,00,000 33.33
2T : HHEER] A I 3,00,000 | 4,00,000 1,00,000 33.33
T qF AT 9,00,000 | 12,00,000 3,00,000 33.33
T @ 40% 3,60,000 | 4,80,000 1,20,000 33.33
T qLEI o 5,40,000 | 7,20,000 1,80,000 33.33

(%) 31 W, 2013 TAT 2014 T THT §C T6T o (IT IE AN 31T i TUMT HIFT |
(@) ST Efd § GHS 1 F8Ifd 6T S aret 6= 31 Jodi sl Ted ST |

Vineet was the Managing Director of Lalit Plastics Ltd. For the last six years the company

had been consistently earning good profits. Vineet followed democratic style of
leadership. He believed in giving respect to his subordinates by agreeing to their good
suggestions. The company also opened a school for girls in the locality and also
contributed towards the cleanliness of the locality. Following is the comparative
‘Statement of Profit & Loss’ of Lalit Plastics Ltd. for the years ended 31* March, 2014 :

Particulars Note | 2012-13 | 2013-14 | Absolute | Percentage
No. €4) €4) change (%) change

Revenue from 12,00,000 | 16,00,000 4,00,000 33.33
operations

Less : Employee benefit 3,00,000 | 4,00,000 1,00,000 33.33
expenses

Profit before tax 9,00,000 | 12,00,000 3,00,000 33.33
Tax @ 40% 3,60,000 | 4,80,000 1,20,000 33.33
Profit after tax 5,40,000 | 7,20,000 1,80,000 33.33

(a) Calculate Net Profit ratio for the years ending 31* March, 2013 and 2014,

(b) Identify any two values which are being communicated to the society in the
above case.

67/1/3 18



21. T gEAT % YR W eRT W Y™ &I 0T DT : A a9 H 9eEr I o
% 9,00,000; 10% 010 % 12,00,000; F @ 40%; faf=ifsta gt 3 82,20,000.

22.

23.

67/1/3

With the help of the following information, calculate return on Investment; Net Profit
after interest and Tax ¥ 9,00,000; 10% Debentures I 12,00,000; Tax @ 40%; Capital

Employed X 82,20,000.

(F) A M, 1956 H Gt VI, 90T [ 3 3TAR 1 01T 1 6T T Siden! a1 3U-

SISehT o ST ShUHT o el for@aeoT | SR SRR 2

() % ety
(i) Twed
(iii) G AR
(iv) <rematy weee

(@) foxiia favetoor & {2l 31 329l ol Seei@ HIT |

(@) Under which major headings and sub-headings the following items will be
shown in the Balance Sheet of a company as per Schedule VI, Part I of the

Companies Act, 1956.
(i)  Bank Overdraft

(i) Cheques in Hand

(iii)) Loose Tools

(iv) Long term provisions

(b) State any two objectives of Financial Statement Analysis.

31 |, 2014 i I Teataes = fefq foawor = v o

P deg | 31-3-2014 | 31-3-2013
) )
HHAT qAqT FgaTd
(1) 3ieTRes Mgt
(31 3ierdst 20,00,000 | 15,00,000
(F) FUF S M 1 5,00,000 | 3,00,000
(2)  FrEel A
SreehTei R 3,00,000 |  2,00,000
(3) ] IFA
(37) AR T 1,50,000 | 2,00,000
(F) CTHCIA aE 2 70,000 60,000
FA 30,20,000 | 22,60,000
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it
(1) /= SEaar
(a) TR U
() 9o Rt 19,00,000 | 15,00,000
(i) e gt 4,70,000 |  2,70,000
(2) =e] uREEtEt
(37) I (HTerg) 2,50,000 | 1,60,000
() SR wirEr 2,10,000 | 2,10,000
(F) kg qAT UhS oA 1,90,000 | 1,20,000
Fel 30,20,000 | 22,60,000
@l & A1
:m P 31-3-2014 | 31-3-2013
& ® ®)
1. | 999 U9 s
ST (M- fereRoT <t 9iw) 5,00,000 3,00,000
2. | THHEI wEEE
T T 70,000 60,000
3. | gof ufcamfaat
TR T JeaeT 27,00,000 | 21,00,000
4. | oTqe ufcgmfaat (8,00,000) |  (6,00,000)
2] 4,70,000 2,70,000

= TETISHT Bl &9 | Y@ g U Ahg YaTE ekl daR hifsTe

Y % IR T TR, a6t 0T T 30,000 o T 519 o1 uehtrd Jeaerd 6,000 o1, &

20,000 H s=7 T

67/1/3
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Following was the Balance Sheet of Sreshtha Ltd. as on 31* March, 2014 :

] 31-3-2014 | 31-3-2013
Particulars Note No. @ @
Equity & Liabilities
(I) Shareholders Funds
(a) Share Capital 20,00,000 | 15,00,000
(b) Reserves and Surplus 1 5,00,000 3,00,000
(2) Non-current Liabilities
Long term borrowings 3,00,000 2,00,000
(3) Current Liabilities
(a) Trade payables 1,50,000 |  2,00,000
(b)  Short term provisions 2 70,000 60,000
Total 30,20,000 | 22,60,000
Assets
(I) Non-Current Assets
(a) Fixed Assets
(i) Tangible assets 3 19,00,000 | 15,00,000
(i1) Intangible assets 4 4,70,000 2,70,000
(2) Current Assets
(a) Inventories 2,50,000 1,60,000
(b) Trade Receivables 2,10,000 2,10,000
(c) Cash and Cash Equivalents 1,90,000 1,20,000
Total 30,20,000 | 22,60,000
Notes to Accounts :
S. No. As on As on
Particulars 31-3-2014 | 31-3-2013
) )
1. Reserves and Surplus
Surplus (Balance in Statement of Profit 5,00,000 3,00,000
and Loss)
2. Short term provisions
Provision for tax 70,000 60,000
3. Tangible Assets
Machinery 27,00,000 21,00,000
Accumulated Depreciation (8,00,000) | (6,00,000)
4. Intangible Assets
Goodwill 4,70,000 2,70,000

Prepare a Cash Flow Statement after taking into account the following adjustment :

During the year a piece of machinery costing I 30,000 on which accumulated
depreciation was I 6,000, was sold for ¥ 20,000.
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18.

19.

20.

T -9

(faehea - 1)
PART -B
(Option - II)
(AT i)

(Computerised Accounting)
el 59 fese QA &

() T S % AT A ot T ol ToeRoT
(@) WA FH ToT TSsTeH

(T) il et AT Wi 7 fesme

(F) SR H F HE Tl

‘Database Design’ refers to

(a)  Description of the structure of different parts of the overall database.
(b) Basic design of the software

(c) Design of Keyboard and CPU

(d) None of the above

QAT & RIS ST (STeT) T =T TR & FTThoT & -
(@) R, WA, ST a7 o

@) 3T 991 =T

() AREEafaE, Oei, ST, S a9 2

The ‘Grouping of Accounts’ means the classification of data from :
(a) Assets, Liabilities and Capital

(b)  Assets, Owners’ Equity, Revenue and Expense

(c) Revenue and Expenses

(d) Assets, Capital, Liabilities, Revenue and Expense

/=TS & SUANT o [oheel Gl T bl THSTEY |

Explain any two advantages of using Graphs/Charts.
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21. ‘SR ST O U1 “Hel SR H [hel I SERI UT 374g iy |

Differentiate between ‘Desktop Database’ and ‘Server Database’ on any four basis.

22. ot B ok’ faf=T Wb % TIGich=T JHIUTShT Sl HHEMST |

Explain different types of Accounting Vouchers ‘as categorized in Tally’.

23. A % G ®HST o T 3T & 2 3G ATl h GHATT |

What is meant by conditional formatting ? Explain its benefits.

67/1/3 23



67/1/3

24



